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SSC-01 : GUJARATI CONTENT

1 A uds usll-l 2sMl GdR 20l ¢ 8

(1.1)

g8l [Aud U3 AR 9 sl s& O 7 o e ?

(1.2) sl slHdS 27 Al AR Auis S 8 ?

(1.3)  diotisll dduHl oA g avie] sd ?

(1.4) e U2l uienl Sl AeAyds Ayien ud 8 7 4 upidl A a
[a2udl auil.

2 <{lA usdHidl S5 usL AR UsdHl G Qull ¢ 12

(2.1)  [esc wctll Aseurl avll A2lys QAL A Aylesaon ~1Rl
A8 [835d eIl Gelsel avil.

(2.2)  Ms3e 8d 3dl MIRA YR AldAL 58 B 7w W2 7

(2.3)  wemusdldl Ax 2 (3] AM Geleel AA Ao,

(2.4) s yausid AaHl sui-ll Hasidd sudle ed 7 il ol ol
M e-isds edl ?

(2.5) el e 2wl 28 enalied adl sl swi A -y
qull.
3 <llA- usdHidl A Ll ol uslHl g G dvil ¢ 15
(3.1) &l ual weHi Aud saldd Mgl Hed AR agldl,
(3.2)  [ANedl e dvil, deiaias A draidias [avel Gelewl
A qgldl.

(3.3)  Ag 24 ogusll Botdl 21913 8, o Boddl FMeud 8. - 21l
(41 uls IR SIRRIUS AN

(3.4)  wzzld s owwd-dl e we s,

(3.5)

dd 0y €, UL sl Asd 4dd HigulEul qgld.
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SSC-02 : HINDI CONTENT

(1) 9T dF 9T & |
(2) @t 9T SifEr ¥ |
(3) famwew otiaf® & |
(4) <MY AT F 3iH YT B YO A 7 |
frefafad el & SaT dam ¥ g ¢ 8
(1) sfud e femsy :
(a1 — pftr) (3 — PR wBR)
(1) o ST & e (®) e
. HAM &
(2) wxd (@) i
(3) 3o @  ar-—fes
(4) @ ai-enh (@)

(2) R @ q@rEE &1 sfare Afeer aikEr % AW fatag |

(3) =fEi 7 e &1 A9 gdeHT & @r 7

(4) ‘AT %% UH BB BIA § HBMI Bed Al I G arl Bl M
CriEE

Frfafad wei o ¥ ol TR % v difsw 12
(1) o= 9 % WY 0% 9= AT
1) 8 @ T9 UgT @l Se

(

2) R ¥ feaE Hemr @

(3) @ TN AT Al

(4) fasg faemeal o yAOOS < @ ST

(5) Ta@l @1 e

(6) ¥% % YA % BT 9% § UM BT ST d HAT
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2) @) <A Suwt & a9 g fafaw |
(@) ‘% 999 & a9 9= faiay |
(3) T o=sf % fagiwer SaEy R O § YA S

(1) emrd
(2) dran
(3) 9w
(4) @® ¥ g U 6™ gl % Sfad & ¥ e @ & g
BN
(1) = e A T @ | (@)
2) o & " S | (H)
(3) < ST TET o e, i TE ST | (I8)

(5) ‘Ha 97 3O B BT TN FT Go9 <1 & 7

3 Frefafed get o ¥ f6=l W ue % s fown @ farey ¢ 15
(1) ==l aEd & FIua iR @9 Idme & IERIT AR |
(2) SN ‘BT YA B AU HIAT §IA Uh U 9 B @ fafag |
(3) feodh fefag
(1) wHAFT ARG e
(2) =l g HAW
(4) T Bia &1 wfsg 9@ oo g=af ¥ fafag -
(1) 3R & S
(2) T HU FH FET YAl
(5) dfer o umr i A
(1) #a
(2) wHa
(3) =t
(4) T W
(5) emir

4
5
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SSC-03 : SANSKRIT CONTENT

qasit ¢ (1) ws-1 sPrud 8.

(2)  uad-2 dul uad-3-l Hiodl Yool G @),

1 A uds usdsl gsMl walel @vil ¢ 8
(1) =w@r wymeE & wuafy ?
(2) wdiam 5 fpy el ?

(3) W & AETwET feumty ?

(4) == g o 2

2 A wsnidl 86wl AR wde @il ¢ 12
(1) 2dls Yy A — AT T ..o gl
(2) 2 RRdR 53
T B wEECTE T BEE swbe Ry
eV SEw i Rwerer |
(3)  SiSuBRL 218l Myl ArgdHi wHL .
(4) woeid aull — i, afemEr, gE=m |

(5) il €l-ual saladl ool sd disdl dvil,
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3 <A wadnil S el oeiel [gd Gar avil ¢ 15
(1) Rirgami uia wsed sy o).
(2) DAL usilcll A5 gAML wqlel @ull
. H: IE TS 7
. TEH TG b ARG 7
. SN wE HeEd SRka ¢
o ofem P Tl 7
. T AN P A 7
(3) Rirgd aeemi avll — 17, 35, 64, 87, 99.
(4) dsudlul 2idale s ¢

% E: HEN | T M Uhae: o | | it
qiSgd WM @ | THal ¥ ZVERE g9 o7esd sEed d |
“Tedd, oreq ofy ugdT wiegd s | gwEr W whge
AER: JEEEd, ‘Of% HIEM UvedN 9 Uiediy | e Had:
ey Wier &g 7 e | wig S uid a @ ST Rt

T avad |

(5) f@ gl adMisia YRAUEL daul 2iaiAugl 3ul avil.
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SSC-04 : ENGLISH CONTENT

1 Answer the following questions briefly :
(1.1)  Write a few lines on Sunita Williams.
(12)  Write whether true or false :
(1) The sadhu had many followers.

(2) The king wanted to meet the Sadhu.

(3) Tenali Raman had no respect for the fake Sadhu.

(4) The Sadhu was really a holy man.
(1.3)  Given 5-6 sentences about Burj Khalifa.
(1.4)  Select correct option and answer.

(1) Assam has a lot of trees because it has ......

( ) a lot of rain and many animals.
( ) a lot of elephant and small state.
( ) a lot of rain and fertile soil.

(2) The cry of elephant its called......

( ) bow... bow
( ) trumpet

( ) trempate

2 Answer any four from the following questions :

(2.1) How did Raman proved that Sadhu was false ?
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(2.2)
(2.3)

(2.4)

(2.5)

3 Answer
3.1
(3.2)

(3.3)

(3.4)

(3.5)

Describe the following invitation into 6-8 sentences.
Write about 6-8 sentences on banana tree.

Write a short introduction of elephant as given in the text-
book.

Answer the following questions briefly :
(1) What was the announcement at Radio Bhindi ?
(2) Why did Dhanush wanted to open account at the bank ?

(3) Why could Munabhai not donate his blood ?

any three from the following questions in detail : 15
Write an essay on 'Solar Energy : A great resource of energy’
Describe the science exhibition of Kartik's School in detail.
What lesson has Babool tree learnt and how ?

Write a letter to your friend telling about your visit to a
trade-fair.

Fill in the blanks :

(1) Is it a new house an old house ?
(and, but, or, so)

(2) He complains headache. (of, off, in, about)
3) 1 exercise daily. (take, took, taken)

(4) Instead of buying a new pair of shoes, I had my old
ones . (repair, repaired)

(5) I help you ? (may, could, ought, must)
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SSC-05 : MATHEMATICS CONTENT

1 A usdel 254l oaer 24 : 8

(1) 42,875+ »iquis-ll dAd a-ya ).

1
o)t s (2o ol
2) [(Hd il : 6 ) 5

(3) izl usiRl ogeudl ol Yedd vid AN sSad A <.
(4) Aol 24 22138 2R N2d g ?
2 A wsimidl S ueL AR Usl-AL wAle, B 12

(1) oPORSHL £LP s1298) 8. mZQ =msR ® A M LS =80°

8. dl mLQ ¥ mZR AL

(2) [l Yoiedl Gualol s3 Bud Aadl : 43x42.
(3) wtaua wd: y*+3y% +4.

4) 4

{r]x B Sl ull ssls dva )

B= {x |3<x<7, xe N} YAl ARL-AL YLOWRLRL del ©eolRL WAL,

P RICLIETIE NRATI

(5) A s vl WL wdel «adl g5 w3 s w2 2,00,000
3Mal 8 251l &3 Asglg cny dlul. 6 -l vid dHel e deal

3MaL Ysaar v ?
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3 <A wsmidl S5~ wsii-l [Ridd G 2 15

(1) uRsR 23wl Heeell 112.5° HusAl veil 2.

(2) O PORS<L YR p sdl vel O« Hiu 10° 2 §. veu g

Y 20° e B A vRI § e ML 30° 29 O, dl e vRU-L

1Y AL,

(3) 15 A0 G-l 18 4 AL AL 50 A0SR 26U dAIR Sl 2l

AL, wd ASA 7 ot 100 A, wdusll Bud 3l 20 €.

dl 3ee) v aw ? (n=3.14)

(4) 640 2. g2 €laaa PUsH 5L 2AAA 16 salls 2 (8347 20

N

sals Al 8, oA w1d Hull ot 51 530 3. 5760 Rl H9d €,

dl oinin 32l 3ol voRl Holl sa ?
(5) s iyarisdl »ia d-l Se-l 3 2Rl sdi 2 8L S, % del siuni

~ . ~ NN . ~ . ~ ~ 5 ~ ~
8 GHRAML 219 2 BeHl 6 GARAML 20d, dl d 3 e, dl d

wiyRlls 2Nl
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ENGLISH VERSION

1 Answer the following question in very short : 8

(1) Find cube root of the 42,875 by estimation method.

1
[49JEX £ 41
(2) Evaluate : 16 ) 5

(3) Write the types of account and what is the meaning of fixed

deposit account ?

(4) What is meaning of Menubar and Standard toolbar ?

2 Answer any four of the following questions : 12
(1) ZLP is aright angle in O PORS . If mZ£Q =mZR and

mZS =80° then find m£(Q and m~R .

(2) Find the value using expansion formula : 43x42.

(3) Factorize : y4 +3y2 +4.

(4) Find union and intersection of the given sets and also show tham

by Venn diagram;
A={x |x is a natural number smaller than 5}

B={x|3<x<7, xeN}
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©)

Rahul took Rs. 2,00,000 at 8% rate at compound interest from a
"Angadia Pedhi" to start a new shop. At the end of 2 years how

much will he have to pay ?

3 Answer any three of the following questions : 15

(1)

)

)

(4)

©)

With the help of compass and scale construct the angle with

measure 112.5°.

In o PORS, mZQ is 10° less, m/R is 20° less and /S is

300 less than s/ P, then find measure of each angle.

How much sheet is required to prepare 50 open cylinders of height

15 c¢cm and diameter 4 cm ? What will be the total cost at the rate

Rs. 20 for 100 sq.cm. sheet ? (TE=3.14)

Jayesh takes 16 hours and Hiren takes 20 hours to colour a 640
square feet wall. If both do this work together they get Rs. 5760 as

remuneration. How much will each get ?

The numerator of a rational number is 2 less than 3 times of its

denominator. If 8 is added to its numerator and 6 is added to its

denominator then new fraction will be E Find that fraction.
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SSC-06 : SCIENCE CONTENT

qast: (1) dum sl srud 8.
(2) [sed idRs »ulal 8.

(3) mal el sug-l »is ga oLl suld 8.

1 A uds ugel 254l walet 2N : 8
(1.1)  yel w4 2udl : TMV, PVC, CNG, CHC
(1.2)  »ll5a3a wBal 2124 g 7 215 Gelewl ).
(1.3) ugusl 212d g ? d-ll usR oeudl 25 215 Geleel ),
(1.4)  euva »u) :
(1) oy 2

(2) 3 dous.

2 A wsmidl A8 uBL AR UL gel >l (wimi) AR) 12

(2.1)  RARHML Reweld Maaiedd] did ddl 9280 d-l iy 4l
vl

(2.2)  uigy 2l susht o33 sal »A SaAs -l dval A 23
(2.3)  dsldd w)

(1) welie adrufi - selefe -l

(2) wid - Aug.
(2.4) AR Gusel-l Gualal wl siuel 4 © 7 quil,

(2.5) @l M CREA A 2 MR Adl 58 58 .7
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3 A wadidl AS el 2l walll Rdd wdiet s (uiamidl 2.) 15

(3.1) i[5 a1y et-iaal-d wdloL sk 9131 qeldl. 33 ANRLS
Al @il

(3.2) 258183 2 ad sl Yeuwaddl wd © 7 A ol Aol qaell A
AaAdl (a2l eeudl.

(3.3)  usias aslea- 212d g ? usiacl asleas-l se-dl 6 Gelsel
A2 33 sl 1 axAndl.

(3.4) AUl GRF-idat-l Hra eyl Algl ). e3s eyt s
qgidl.

(3.5)  awafis yu-dll AasFmEaadl susk 630 udls ai-i gsui sid
vl

ENGLISH VERSION

Instructions : (1) All questions are compulsory.
(2) Choices are given internally.

(3) Right side number of the question is indicating total marks.

1 Answer the following questions in very short : 8
(1.1)  Give full name of : TMV, PVC, CNG CHC
(1.2)  What is oxidation process ? Give its one example.

(1.3)  What is pollutants ? Give its type and give one example of each
types.

(1.4)  Give definition of :
(1) Principal axis

(2) Focal length
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2 Give the answer any four of the following questions : (04 out of 05) 12

(2.1)  Give the list of parameters got by fractional distillation of

Petroleum with its temperature.
(2.2)  Draw the atomic structure with orbit and electron.
(2.3)  Give the difference between :

(1) Xerophytes - Hydrophytes

(2) Metal - Non metal.
(2.4)  Write an advantages by uses of solar devices.

(2.5) Give season : "Virus called the link between animate and

inanimate".

3 Answer any three of the following questions : (03 out of 05) 15

(3.1)  Describe preparation of oxygen gas with proper figure and

chemical reaction.

(3.2)  Which microorganisms are caused for typhoid and T.B. disease?

Write characteristics and precautions of both disease.

(3.3)  What is Refraction of light ? Give two phenomenon with proper
figure of refraction of light.

(3.4)  Give the list of Excretory system parts of human body.
Give the functions of each part.

(3.5)  Draw the figure of ideal flower with proper nomenclature.

Give functions of each part.
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SSC-07 : HISTORY CONTENT

Al : (1) ua-1 25 oaoll usl, uds-l 6 2L
(2)  us-2 WYL Hagol alol @vil, UdAsHl 2Rl 98,

(3) w23 AMAR G @vil, UdsHl Ui v,

1 A uds ugel 254l walet 2N : 8
(1.1) 2« sairie weadlal Al ‘e drs sl qoll’<)l Gueal el ?
(1.2)  wtuew simiRedl Hea RANdRl 56 55 & 7

(1.3) S 17574 1856 Yol AL A+l »i31% Wi+ eAlHAL ¢URd
2 3l o1l 8dl ?

(1.4) wgusu el iol (euey) well asuy & 7

2 A welmidl S wel AR el et UM ¢ (wianid] AR) 12
(2.1)  yAMUA w2A Aan gaHel dyai-] @3 well ud ?

(2.2)  welR WIRrdRigAl AAUl >iA% UAMGHL Al /AL A5
3+ oyl ?

(2.3)  HelRsUd ANq0 W 12 23 48 7
(2.4)  ond-{l Ul UMD 58 AHRAA U33YU 8l ?

(2.5)  eudul ‘Mlansd 2igla’ Al W2 a3 adg ?
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3 A wadidl AS el 2l walll Rdd wdiet s (uiamidl 2.) 15
(3.1) oitirRi-l 83d-{l Ul qeld).
(3.2) [l adla qeeudl wam doissidl st qelq s
(3.3)  usiasiR]l Do-i w1 el Ravd [ Al 0.

(3.4)  ond [a+ll 219+l Maad W M2 Herayel yalg oRldmi
w19 & 7

(3.5) @i Al oA Rus>al ady well ed) ?

ENGLISH VERSION

Instructions : (1) Q. No. 1 short answer question, each carries two marks.
(2) Q. No. 2 as per instruction, each carries three marks.

(3) Q. No. 3 answer in detail, each carries five marks.

1 Answer the following questions in brief : 8

(1.1)  Swami Dayanand Saraswati advised the people to "Return to the
Vedas'.

(1.2)  Which are the salient features of our Constitution ?

(1.3)  What type of country did India become during the hundred years
of British rule from 1757 to 1856 A.D. ?

(1.4)  Why is the President called a part of the Parliament ?
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2 Attempt any four questions out of five questions : 12

(2.1)  Why there was a need to find out sea-route by European people ?

(2.2)  Why were the Britishers not successful in establishing their rule
in Punjab during the time of Maharaja Ranjit Singh ?

(23) Why did Maha Gujarat Movement start ?

(2.4)  Which were the problems India had to face as challenges when
it became independent ?

(2.5)  Why did the 'Khilafat Movement' start in India ?

3 Answer in detail any three questions out of five questions : 15

(3.1)  Describe the process of the formation of Constitution.

(3.2)  Describe the working of the Indian National Congress in its first
phase.

(3.3) Discuss about the specialities of Subsidiary Alliance and
Annexation Policy.

(3.4)  Why is the "Application for Public Welfare structure" considered
to be an important step ?

(3.5)  Why there was dissatisfaction among the Indian soldiers of

British army ?
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SSC-08 : GEOGRAPHY CONTENT

YAl : (1) uslel G Myl Hogol v,
(2) 2@ el A gl quil,
1 <& usil-l 2541 GdR 20l ¢ 8
(1.1)  »uodlsal 224 g ?
(1.2) AUl 55 58 Aqld dxde 2wy 8 7
(1.3)  ‘oder’ 2 ‘qye’ ~l 242 ).
(1.4) oo PP w2 g ?
2 <{lA usiHigl S5 uBL ARAL G ML 12
(2.1)  oaouyell RR€le adil sRe) %eud.
(2.2)  duRL Baeid oud yRui uellud w4y ©,
- d¥ ddl ol Hee e ?
(2.3) o4 ugNRlL 22sladl sql-5U1 GUE)L AL ASH 7
(2.4)  ofl a6 SEse- wxAAl.
(2.5) APuflsa-l 26 pud.
3 <llA usiidl S5 usL ARl G ARRAR @vil ¢ 15
(3.1)  meMeL 22d g ? - A wsA-l 21l .
(3.2) ARG My wdemAl.
(3.3)  gedl k-l A 20l A5 6 swukiil-dl 2l 53,
(3.4)  edel udell 2al A Rd-L Aol A2l 53,
(3.5) A w6l Al

(1) @aidr
(2)  axdloflad
(3) =dsale
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ENGLISH VERSION

Instructions : (1) Answer the questions as per required.

(2) Write the answer according to the marks.

1 Answer the following question in short : 8
(1.1)  What is climate ?
(1.2)  Which services are included in service sector ?
(1.3)  Define the Birthrate and Deathrate.

(1.4)  What is global warming ?

2 Answer any four from the following question : 12
(2.1)  Give reasons for volcano eruption.

(2.2)  Your friend's village is flood affected. - How could you help
him ?

(2.3)  What are the remedies to prevent soil pollution ?
(2.4)  Explain green house effect.

(2.5) Discuss the effects of Globalization.

3 Answer any three from the following question in detail : 15
(3.1)  What is pollution ? Discuss the types of pollution.
(3.2)  Explain the surface of Asia ?
(3.3)  Name the natural hazards and discuss any two of them.
(3.4) Discuss India's relations with its neighbouring countries.
(3.5)  Explain the following :
(1) Migration
(2) Density of population

(3) Terrorism.
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SSC-09 : ELEMENTS OF ACCOUNTANCY CONTENT

1 <A s uslel 254 walel 2N ¢ 8

(1.1)

i WM ¥2d g ?

(1.2)  Asll &4l >R 2l &80 el »un.

(1.3)  [sauell wlsaid Yot Axnel.

(1.4)  wisl AL 242 ogpud).

2 <lAA wsimidl SsS ueL AR usill walel M. ¢ 12

(2.1) Yyl A3 sudlad 3. 57,000+ Basd 4ot wle. ¥ dNsadlsil
wa 3. 3,000 2. e ¥ 5% @ul adl wdl sudld{l ugla way
281 Qi YHl =auril oLl s,

(2.2) &40 el oneuel.

(2.3)  [Bdwdl del > 2udl qael Axsdl.

(2.4)  endu-ll A Al 2uddl cuglell uel d-l AU
dllul ¢ 31-03-2015+1 A% YU Adi a¥+ dQuIR viid duR $3.
[ GuR BUL
Rls (dl. 1-4-2014) 40,000 -
w3lel 1,64,000 -
wile Mg YR - 10,000
Quat e 2,20,000
QAR HId YRd 20,000 -
13l 10,000 -
e -5ld 8,000 -
S TEERTICENTRICTRS 2,000 -
dl. 31-03-2015+ A% Hiaxl R+l yalEud 3. 44,000 &dl,
R a-l eelEHd 3. 50,000 &dl.

(2.5)  wtsuHal e 2] et wRudl.
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3 <0A0 uslidl AduRl AR wsi-l Rizgd oot 204 : (05 il 03) 15
(3.1)  2allpw uglii qael uxemdl,
(3.2) &gl vl - Eiarel v,

(3.3) sl @A s19 ¥AAY, AewAdl M2 dsldd 3. 1,000 Guas vid
GuiRa . Alls [Bael duir sul olle (1A ogel il udl :

ARl
1. ol wad s3d Hasdl 84 d-ll vid 3. 3,500 GaRd €.
2. wleHid ud lEHl ARAG) 3. 800 AY oLRA) €,

3. ed 2old deflefl (el Ysda 3. 600 YRR 2 viid
GHIRY 8.

4, el wAdl HA4 ®lLd 3. 1200, d-ll vid AH% @13l vid
Y ol vld BHL 53¢ .

5. YImwq AAd Wl Ay vidleddldl 23 sdl, 3. 5,000.

6. A YA Sl A d-fl el 8% 3. 6,000 AL
vld vdadldfl 8l a1 edl.

Gua+ll il udl ee yaRel <y avll, Guas vid duR $3U.

(3.4)  dslad 2 @ 2048 Hds vid 2 Gues wa vid.
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(3.5) @Al dl. 31-3-2015+1 A=l s12AL 4341wl QUIR g,
sl vild, Ul A3AY dUIR S ¢

[aoa w1-YL GawRensl 3. @ ousl 3.
“w 1,00,000
GuLs 10,000 ——————-
RdUd w2 501010 B—
saldl :-

(1) »iod quue W2 dlld We 3. 1,000
(2) D °da Wa 3. 2,000
(3) Ayl adld adde Wa 3. 3,000

(4) 2wl ool oldle W 3. 20,000 ML $udlat 3. 15,000 <
gldl o sl

ENGLISH VERSION

1 Answer the following question in short : 8
(1.1)  What is reserve fund ?
(1.2)  What is bills receivable and bill payable ?
(1.3)  Explain the concept of Accounting Equation.

(1.4)  Write a meaning of Balance Sheet.
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2 Answer any four questions of the following : (04 out 05) 12

(2.1)  Surbhi & Co. purchased a machine at a cost of Rs. 57,000.
Installation cost to it was Rs. 3,000. Compute depreciation at
5% under reducing balance method four first three years.

(2.2)  Define specimen of bill of exchange.

(2.3)  Give the meaning of non-trading concern and explain character-
istics.

(2.4)  Prepare Trading Account for the year ended on 31-03-2015 from
the following balances of Bhaves :

Particulars Debit Rs. Credit Rs.
Stock (Dt. 1-4-2014) 40,000 e
Purchase 1,64000 e
Purchase returns ~ emmeeee 10,000
Sales e 2,20,000
Sales returns 20,000 e
Wages 10,000 -
Railway freight 8,000 e
Carriage inward 2,000 e

Cost price of closing of gools an on 31-3-2015 was Rs. 44000,
whereas its market value is Rs. 50,000.

(2.5)  Give the meaning of Reserve and define (state the) importance.

3 Answer any three questions of the following : (03 out 05) 15
(3.1)  Explain characteristics of Deshi Nama.
(3.2)  Write short note : Dual Aspect concept.
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(3.3)  Shri Harjit has tallied his trial balance by debiting a difference
of Rs. 1000 to suspense account and there after he has prepared
final accounts. After preparation of final accounts the following
errors are detected.

Date :

1.  Goods of Rs. 3500 returned by Beena is posted on debit
side of her account.

2. Total of purchase return book is overcast by Rs. 800.

3. Harjit has paid Rs. 600 for his personal medical bill and
the amount is debited to miscellaneous expense account.

4. Rs. 1200 received from Neala for rent is posted to the
credit of her account as well as to rent account.

5. Goods of Rs. 5000 sold to Surendra is recorded in pur-
chase book.

6.  Rs. 6000 paid to Esha for repayment of loan is not posted
to her account.

From the above information pass rectification entries and prepare
Suspence Account.

(3.4)  Give differences : Receipt - Payment Account and Income -
Expenditure Account.

(3.5)  Prepare Trading Account, Profit-Loss Account and Balance Sheet
from the trail balance of Bhavna as on 31-3-2015 :

Particulars L.F Debit Rs. Credit Rs.
Capital e 1,00,000
Drawings 10,000 e
Advertisement Expenses 4000 -
Adjustments :

(1) Goods of Rs. 1000 withdrawn for personal use.
(2) Goods of Rs. 2000 lost due to theft.
(3) Goods of Rs. 3000 distributed as sample.

(4) Goods of Rs. 20,000 burnt by fire and insurance company
accepted a claim of Rs. 15,000.
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SSC-10 : ECONOMICS CONTENT
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ENGLISH VERSION

Instructions : (1) All questions are compulsory.

(2) Options are internal.

1 Answer the following questions in brief : 8
(1) Give concept of Birth-rate.
(2) What is a Disinvestment ?
(3) What is Mixed economy ?
(4) What is Infrastructure ?
2 Answer any four of the following questions : 12
(1) Explain the role of education in population control.
(2) Explain the meaning of strategy.
(3) Explain the concept of features of human development.
(4) What do you mean by a comparative sudy ? Explain its types
giving appropriate examples.
(5) Explain : The private as well as the public sectors have
different importance in the Indian economy.
3 Answer any three of the following questions : 15
(1) Explain in detail the relation between economic development and
population growth.
(2) Evaluate the economic reforms with reference to its effect on
the Indian economy.
(3) Write a note on the achievements and limitations of planning.
(4) Explain the importance and development of health services in
India.
(5) Explain the three indicators of Economic development.
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SSC-11 : BUSINESS MANAGEMENT &
ADMINISTRATION CONTENT
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1 Answer
(1.1)
(1.2)
(1.3)
(1.4)

2 Answer
2.1
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3 Answer

G.1)
(.2)

(3.3)
(3.4)
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ENGLISH VERSION

the following questions in short : 8
Explain the full form of IIM.

How is employer management section is recognised ?

Explain Frederick Definition of Scientific management.

Give the definition of Centralisation.

any four questions from the following : (04 out 05) 12
Explain management as an art and science.
Describe the benefits and limitations of planning.

Distinguish between Line organisation and Functional
organisation.

Explain the importance of Delegation of Authority.

Explain "compared to other factors, the success or otherwise
of management depends more on organisation".

any three of the following : (03 out 05) 15
Explain : POSDCORB.

Explain : Level of management.

Explain any five principles of Henry Fayol.

Give the meaning of training and state its importance and
merits.

Explain the process of Management.
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